
ISSUE 1: 01/02/2022 PART NUMBER: K703037RP-KIT PAGE 1 OF 4

PRODUCTION DATE: 2019 ONWARDS

FITTING INSTRUCTIONS FOR:
ACCESSORY PART NUMBER: K703037RP-KIT
REAR RECOVERY POINTS

JEEP JT GLADIATOR

CAUTION
Ensure correct tools & appropriate PPE 
are used whilst installing this accessory

! CARE INSTRUCTIONS
Wash with regular car wash products.
Regularly check bolt torque settings.

INSTALLATION TIME
Approximately 15 minutes

(guide only).



ISSUE 1: 01/02/2022 PART NUMBER: K703037RP-KIT PAGE 2 OF 4

KIT CONTENTS

TOOLS REQUIRED

1 2 3 4FITTING INSTRUCTION RECOVERY HOOK WASHER PLATE

CHECK THAT THE CONTENTS OF THE REAR BAR KIT 
ARE COMPLETE & UNDAMAGED PRIOR TO FITMENT.! IF ANY CONTENTS OF THE REAR BAR KIT ARE INCOMPLETE OR DAMAGED THEY 

MUST BE REPLACED USING SPECIFIED ACESSORY COMPONENTS.!

x1 x2 x2 x6

1 2Metric sockets & spanners Torque wrench

SPACER TUBE

BOLT KIT9

REFER PARTS LIST x1



ISSUE 1: 01/02/2022 PART NUMBER: K703037RP-KIT PAGE 3 OF 4

REAR RECOVERY POINTS ASSEMBLY

INDIVIDUAL LOADING
MUST NOT EXCEED

RATED CAPACITY

4000 kg

PARTS LIST Check contents of kit before commencing & report any discrepancies.

SIDE RECOVERY POINTS MUST BE USED IN 
TANDEM WITH A BRIDAL / EQUALISER STRAP

CAUTION!

ITEM NO. DESCRIPTION QTY.

1 FORGED SIDE RECOVERY HOOK 2

2 WASHER PLATE 2

3 SPACER TUBE 72MM 21.3 X 3.2 6

4 BOLT HEX HD M12 X 120 X 1.25P G10.9 6

5 NUT HEX HD M12 X 1.25P G8 6

6 WASHER PLAIN 1/2" 12

4

4

4

6365

6365

6 3 6 5

1

2

NOTE:
REAR BAR NOT SHOWN FOR CLARITY OF INSTALL TO TOWBAR ASSEMBLY



ISSUE 1: 01/02/2022 PART NUMBER: K703037RP-KIT PAGE 4 OF 4

 

 

 

 

 
Assemble 3x M12x120 Bolts (Item 4) 3x M12 washers (Item 6) 

and 3x spacer tubes (Item 3) as shown.

Insert the bolts & spacer tubes into the cross tube as shown while 

holding the bolts so they dont fall out.

Assemble the washer plate on top of the cross tube over the bolts 

& attach using 3x M12 Nuts (Item 5) & 3x M12 Washers (Item 6)

Repeat process for the other side.

Note:

M12 10.9 Torque Spec - 125Nm (92 ft-lb)

1.

2.

3.


